ELEC 5200-001/6200-001 Computer Architecture and Design 
Spring 2008
Homework 7 Solutions
Assigned 4/21/08, due 4/25/08
Problem 1: 
(a)  Suppose data access from the main memory takes Tm cycles. A one-level cache is designed for a hit rate h. When a hit occurs, data can be accessed in T1 cycles. In case of miss, data is fetched first from the main memory into the cache and then from cache to the processor. Derive a speedup formula for data access and show that a fraction 1 – h of the memory access time cannot be speeded up.

(b)  Show that for an average data access time of c cycles, the miss rate, m, should not exceed m = (c – T1)/Tm.

(c) Suppose the CPI of a processor pipeline is 1 if there were no stalls. The access time of cache upon hit is 1 cycle and that of the main memory to cache is 20 cycles. What should be the miss rate of the cache if we want the average data access time not to exceed 1.5 cycles?

Problem 2: 
(a) Derive a formula for the average access time of a two-level cache system when,


T1 = L1 cache to processor data transfer time


h1 =  hit rate for L1


T2 = L2 cache to L1 data transfer time



h2 =  hit rate for L2


Tm = memory to L2 data transfer time 
(b) If h1 = h2 = h, show that the average data access time for the two-level cache is given by



T1 + T2 (1 – h) + Tm (1 – h)2
(c) Given T1 = 1 cycle, T2 = 10 cycles, and Tm = 100 cycles, find the miss rate, m = 1 – h for an average data access time of 1.75 cycles for the two-level cache system.

Problem 3:
Following statistics on sizes of data localities and the number of data localities used by programs are given. If the main memory contains 1gigawords and the word size is 32 bits, then find the cache size in kilobytes (KB).
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Number of


Programs





4	8	16	32	64	128


Number of localities








Number of


Localities





64	128	256	512	1K	2K


Locality size in words











